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2.2 EXEKUIDED ey, O e i s

% - STANDARDIZED TEST PRACTICE
Exs. 2, 50,565 7 and 58

A

EXAMPLE 1
on p. 74
for Exs. 3-11

EXAMPLED
onp. 75
tor Exs. 12-25

EXAMPLE 2
on p. 76
for Exs. 26-31

EXAMPLE 4

onp7E
for Exs. 32-37

[E]

1. VOCABULARY What number is called the additive identity? 0

2. % WRITING Without actually adding, how can vou tell if the sum of two
numbers will be zero? I they are opposites, their sum will ba zero.

USING A NUMEER LINE Use a number line to find the sum.

3. -11+3 -8 4. -1+6 5 5 13+(-TE

6. 5+ (—10p =5 -9+ -4 —13 8. —B+(-2) -0

9. -14+48 -6 0. &+ (—12) —& 1. —11 + (—%) —20

FINDING SUMS Find the sum.

12. —2.4+ 339 15 (13)-87+42 —a5 14, 4.3+ (-10.2) 59

15. 9.1 + (—2.5) BE 16. —6.5 + [-7.1) 136 17. —11.4 + (—3.8) 152
1, gl 3 2 13y 91 43 ] 17

8. 4. +| 85 —5“] la. &5+ | 15|| ?15 0. 123+ 6 —53]

_4, .4 .16 a3 (43 _a’ 21 a7l _agB
2L —gtlg 1!5 a2, -3+ ! 145 1333 23 Tt IEE_. 21]'3!
ERROR AMALYSIS Describe and correct the error in finding the sum.

25, The numbers
-13+(—15) =28 X 17+ [—3) = —48 >< have different
. signs, sotheir

T':‘;TT"‘%IBE“"I';;“ negative, absolute values should have been subtractad,
IDENTIFYING PROPERTIES Identify the property being illustrated. 7 +{-=31)=-1
26. —3 + 3 =0 Inverse property of addition 2. (—6+ 14 T7T=-6+(1+T)

Associate property of addition
28. 9+ (-1)=-1+19 . —B+0=— .

Commutative pmpnrl; of addition Identity property of addition
. x+H+I=x+(2+3 W y+(—dl=—-d+y

Associative property of eddition Commutative proparty of addition
FINDING SUMS Find the sum.

32, 13+5+( 71 15 3. B+ 120+ 19 —44

34. 047 + (—18) + (-3.8) 513 (35) 26+ (-3.4) + 76 16

g —al 47214 (—ad) _zp] gr g2 4 /g3l 4 gl 19

36, —3g +| 75|+ | 9| —20¢ Fi. By +| g + 33 5

EVALUATING EXPRESSIONS Evaluate the expression for the given value of x.

3. A+ x+(-Thx=6 2 . ox+ (-5 + 5 x=-3 —3

40, 96 + (—x) + 2.3; x= -85 204 4L L7 + (—54) + (—x)jx=24 95
1 (1) . _ _pZ =3 (3l 4 (73 = 3l 78

A2 15+ [xf + [ -3gfx= —B; 6y 43 x| + (35| + (7555 x= 33 7
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Differentiated Instruction



48.
44,
1; [2x].
e aTEWEr 50.
=2, then
+|-2=
[-2i=n0. 5l.
= —2,‘tha|1|t_rI
[ +1—1-2}

2|+ |-2]|

"PROBLEM SOLVING

(AMPLE 1[a] 53. WEATHER The temperature in vour city at 6 A.M. was —8°F and

Ip. 74
rEx 51

IR 75
r Exs. 54-55

FINDING SOLUTIONS Solve the equation using mental math.

44.
46.

r+(-9+9=8a 8 45 (B +x+ (-2)=-10 0
x+(-2B)+92=0 —E4 47. B7+x+13=0 74

TRANSLATING PHRASES In Exercises 48 and 49, translate the verbal phrase
into an addition expression. Then find the sum.

54.

The sum of the absolute value of —4 and the additive identity |-4|+0;4
The sum of the opposite of —18 and its additive inverse —{—18) + (—18;0

* MULTIPLE CHOICE If a + bis negative, which statement must be true? D
(K a=0,b<0 B a<0 € a=0b=0 @) a<-h
CHALLENGE Consider the expression |x| + (—x). Write a simplified

expression for the sum if x is positive. Then write a simplified expression
for the sumi if x is negative. Give examples to support your answers. Ses margin.

. CHALLENGE Evaluate —50 + (—43) + (—48) + -+« + 48 + 49 + 50. Explain

how you can use the properties of addition to obtain the sum.
0; use the commutative property of addition to add each negative number and its opposite.
By the additive inverse property, it will equal .

increased by 15°F by noon. What was the temperature at noon?
@HemeTuter  for probiem smhing help & dessrone.rom T'F

PARKING GARAGES The bottom level of a parking garape has
an elevation of —45 feet. The top level of the garage is
100 feet higher. What is the elevation of the top level? 55 ft

@tfameTutar  for problem sohing help o deerone.com

MULTI-STEP PROBLEM In optometry, the strength of an eveglass
lens is measured in diopters. Two lenses can be combined to create a
new lens, and the sum of their strengths is the strength of the new lens.
a. A lens of —4.75 diopters is combined with a lens of 6.25 diopters

to form a new lens. What is the strength of the new lens? 1.5 diopters
b. Alens of —2.5 diopters is combined with a lens of —1.25 diopters

to form a new lens. What is the strength of the new lens? —3.75 diopters

c. The greater the absoluie value of the strength of a lens, the stronger
the lens. Which new lens is stronger, the one in part (a) or in part (b)? part (b}

56. % MULTIPLE CHOICE The table shows the profits for a company from

1999 to 2004. Which three-vear period had the greatest total profit? ¢

Year 1909 2000 2001 2002 2003 2004
Profitimillions
of dollars) -13.76 5401 38.54 -2133 123.90 -14.82

(A 1999-2001 (B} 2000-2002 € 2001-2003 (O 2002-2004
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2.4 EXERCISES e ?ﬁﬂi‘%ﬂ"m’“ﬂﬂ";ﬂ

; Exs. 2,448, 52,53, and 55
‘: MULTIPLE REPRESENTATIONS

[A] L. VOCABULARY What number is called the multiplicative identity? 1

2. % WRITING Describe the difference between the identity property of
multiplication and the multiplicative property of —1. See margin.

*EXAMPLE 1 FINDING PRODUCTS Find the product.
: on p. 88

! for Exs. 31 3. —4(7) -28 4. 11-2) -2 5. —8(—10) 90 6. —B(—11) &8
7. 5(-7.2) 36 8 (-2.5)(-1.3) 325 8. —42(—} |7 10. —3(-32) 16
(DEEEET 12 05(-20)(-3) 30 13 —2(-12)(—4) —40 14. —2(2)(—6) 9
T G 1
—B[— A}~ _ 1 Bi—F— (_ZW _1Y 52 _F_1v_m) _2
15. —B(—4}{—2.5) —80 16. —1.6(-2) _1:2] 17. 13|I 3.'. E.I EE 18. EI 3.'-_ Sl
: EXAMPLEZ | IDENTIFYING PROPERTIES Identify the property illustrated. 13-27. See margin.
: on p. 89 2 oo =T = —T . - W1 = —
 for Exs. 19-37 19, 5 0=10 20, 0L3-(-3)=-3-043 2L -143-1=-143
2, -1-[-6l=8 23, (—2-5)-4=-2-(5-4) 24. 0-(-T63)=10
25. 1+ (ab) = ab 26. (3xly = Jxy) 27 5+ (-1 = —s
: EXAMPLEZ | USING PROPERTIES Find the product. fustify your steps. 28-36. See margin.
: on p. 90
{ forExs. 28-36 | 28, p(-2)i—-8) 9. —18(—-x) 30. gr—Eq]
(@0 —2-6)-72) 32. -5(-4)(-2.1)(-2) 3. -5
34, —5H—1) 35, —6r(—2.8r) 36. 1~ hi—m)i—m)
EVALUATING EXPRESSIONS Evaluate the expression when x= -2
and y = 3.6.
a7 2x+y —04 38, —x — 3y —BB 38, xy— 54 —125
3.7 =-7. 40 |y| —4x 15 41, 1.5x— |-y| -6& 42 ¥ - ) -89
not T
:1”?:!:_33”_;:: ERROR ANALYSIS Describe and correct the error in finding the product.
=Ml-2xi= 43, 44
[21 - (—2)]x= —TH—3)—2%) = T-3)(—2x) (—82)—8)(z) = (—8)—5z)(z)
-4y = —2i(—2x) = (—B)—5){=)(=)
48, | —B)—5)= _ ey - i
e IR S s
[—B]1—5]1$= = 42x = —a0z®
Az 4=
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